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Question: 1

Which two parameters apply to mstore only? (Choose two.)
Options are :

A. mstore_file
B. file truncate
C. scan_target_interval
D. scan_iter_interval

Answer: A B

Question: 2

Which two statements are true about the Delegation pattern? (Choose two.) Options are :

A. The service consumer does not receive the work result.
B. The service consumer receives confirmation that the work was completed successfully.
C. The service consumer receives confirmation that the request was accepted.
D. The service provider sends the work result to the service consumer.

Answer: B D

Question: 3

What are two valid ways to create a Connection Factory? (Choose two.) Options are :

A. Create factory myFactory queue url=tcp://server:7777,tcp://serverl:8888
B. Create factory myFactory queue url=tibjmsnaming://server:7777
C. Create factory myFactory queue url=ssl://server:7777 Create factory myFactory queue
url=ems://server:7777
Create factory myFactory queue url=tibjmsnaming://server:7777,tibjmsnaming://server:8888

Answer: A C

Question: 4

Which two properties are correct for the topic mycompany. tibx. eng. all? (Choose two.) Options are :

A. maxbytes=200
B. maxmsgs=1000
C. maxmsg=l()0
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D. maxbytes=2000

Answer: A C

Question: 5

Which two statements are true about hops and zones in EMS? (Choose two.) Options are :

A. Zones affect queue and topic messages.
B. A server can simultaneously belong to more than one zone.
C. The concept of zones and hops applies to queue messages.
D. Topic messages can be routed across multiple hops if there are no cycles.

Answer: B D

Question: 6

TIBCO Enterprise Message Service Certification Exam Set 1
Which two datastores are supported by EMS servers? (Choose two.)

A. data grid
B. dbstore
C. dbstore
D. mslore

Answer: A D

Question: 7

A solution needs to update a backend database with a JDBC interface. Which TIBCO ActiveMatrix
component should you recommend?
Options are :

A. Active Matrix Meditation implementation type
B. Active Matrix Business Works
C. Active Matrix Web App implementation type
D. Active Matrix Spring implementation type

Answer: B

Question: 8

Consider the following design of a Balance Manager service and its corresponding implementation in
the Account Balance Manager:
Which statement is true about the deployment of the Account Balance Manager Component?
Options are :
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A. If two instance of the Account Balance Manager are deployed on different nodes than the Balance
Manger Service, each service request will be handled by one of the instances.
B. It is illegal to deploy more than one instance of the Account Balance Manager.
C. If one instance of the Account Balance Manger is deployed on the same node as the Balance
Manger Service and another Account Balance Manager is deployed on a different node, the instance
on the different node can never receive the requests.
D. If two instance of the Account Balance Manger are deployed on different nodes than the Balance
Manger Service, each service request will be handled by both of the instances.

Answer: A

Question: 9

Which three TIBCO Business Events objects can be stored in cache servers? (Choose three.) Options
are :

A. Concepts
B. Scorecards
C. Rule Functions
D. Global Variables
E. Rules
F. Events

Answer: A D E

Question: 10

What are three feature of Pattern Matcher? (Chooae three.)
Options are :

A. Each agent has a separate instance of the Pattern service.
B. The Pattern service starts automatically when the engine starts.
C. The Pattern service can run in Inference agent or Query agent.
D. The Pattern service can be started and stopped anytime inside the
E. The Pattern service can only be run inside an Inference agent.

Answer: A D E
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